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QUESTION 1

A company needs to implement a generic gateway application which accepts COBOLinput messages using WebSphere
MQ transport. The first 15 bytes of each input message represents a common header for all messages. The 15 bytes
header is used to determine the message type, length and routing information.

Which domain parser should the solution developer set in the input node to accomplish this?

A. MIME

B. BLOB

C. JSON

D. DataObiject

Correct Answer: B

QUESTION 2

The Integration Toolkit Adapter Connection wizard is used to create the resources that enable the WebSphere Adapters
to connect to:

A. a medical device.

B. IBM Business Monitor.

C. Microsoft Dynamics CRM.

D. PeopleSoft Enterprise Information System (EIS).

Correct Answer: D

QUESTION 3

The embedded global cache in an integration node can be extended by connecting to:
A. Integration Bus Advanced.

B. Integration Bus Hypervisor Edition.

C. WebSphere eXtreme Scale.

D. WebSphere Extended Deployment Compute Grid.

Correct Answer: C

QUESTION 4
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A solution developer needs to developa generic message handler that is common to all applications and message flows.
The message handler parses a complex file than contains healthcare records and extracts Patient Eligibility requests.
The developer wants to make and deploy changes to the message handler without redeploying all the message flows.
How should the developer define the Integration Bus artifacts?

Define the message handler as:

A. a subflow in a library and define the message flows as services that reference the library.

B. a subflow in a library and define the message flows as applications that reference the library.

C. a subflow in a library and define the message flows as independent resources that reference the library.

D. an integrationservice and define the message flows as applications that reference the integration service.

Correct Answer: D

QUESTION 5

Which node allows the developer to receive the message in the XMLNSC domain and change it to a BLOB domain
before writingit to the database?

A. SCAInput

B. Database

C. DatabaseRoute

D. ResetContentDescriptor

Correct Answer: B
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